#### MBR CONSTRUCTION, INC.

Bid Contact Ron Boss

ebroc@mbrconstruction.com Ph 954-486-8404

Fax 954-486-9579

Bid Bond

**[**] (

(Status: Authorized on May 20, 2020)

Address 1020 NW 51st Street FORT LAUDERDALE, FL 33309

Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. [	Docs
PNC2120194B101-01	Miscellaneous: Unsuitable Soil Materials Removal	Supplier Product Code:	First Offer - \$66.72	20 / cubic yard	\$1,334.40	Y	Υ
PNC2120194B101-02	Miscellaneous: Structural Fill	Supplier Product Code:	First Offer - \$23.40	150 / cubic yard	\$3,510.00		Y
PNC2120194B101-03	Miscellaneous: Precast Concrete Basketball Standard	Supplier Product Code:	First Offer - \$15,000.00	2 / lump sum	\$30,000.00		Y
PNC2120194B101-04	Miscellaneous: Tennis Netting and Anchoring Standard	Supplier Product Code:	First Offer - \$360.00	2 / lump sum	\$720.00		Υ
PNC2120194B101-05	Miscellaneous: Aluminum Handrails and Railings	Supplier Product Code:	First Offer - \$83.94	125 / linear foot	\$10,492.50		Υ
PNC2120194B101-06	Miscellaneous: Aluminum Handrails and Railings	Supplier Product Code:	First Offer - \$83.94	25 / linear foot	\$2,098.50		Y
Bid Allowance			\$600,000.00				
				Lot Total	\$48,155.40		
Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. I	Docs
PNC2120194B102-01	Custom Structures: Prototype Small Picnic Shelter	Supplier Product Code:	First Offer - \$64,738.80	1 / lump sum	\$64,738.80		Υ
PNC2120194B102-02	Custom Structures: Upgrade of Shelter	Supplier Product Code:	First Offer - \$576.00	1 / lump sum	\$576.00		Y
PNC2120194B102-03	Custom Structures:	Supplier	First Offer - \$81,228.00	1 / lump sum	\$81,228.00		Υ

	Don't de la Marilla		ounty Commissioners			
	Prototype Medium Picnic Shelter	Product Code:				
PNC2120194B102-04	Custom Structures: Upgrade of Shelter	Supplier Product Code:	First Offer - \$888.00	1 / lump sum	\$888.00	Y
PNC2120194B102-05	Custom Structures: Prototype Large Picnic Shelter	Supplier Product Code:	First Offer - \$103,958.40	1 / lump sum	\$103,958.40	Y
PNC2120194B102-06	Custom Structures: Upgrade of Shelter	Supplier Product Code:	First Offer - \$1,272.00	1 / lump sum	\$1,272.00	Y
PNC2120194B102-07	Custom Structures: Prototype Restroom with Janitor Closet	Supplier Product Code:	First Offer - \$239,046.00	1 / lump sum	\$239,046.00	Υ
PNC2120194B102-08	Custom Structures: Prototype Restroom with Storage	Supplier Product Code:	First Offer - \$220,507.20	1 / lump sum	\$220,507.20	Y
PNC2120194B102-09	Custom Structures: Prototype Restroom with Office	Supplier Product Code:	First Offer - \$231,202.80	1 / lump sum	\$231,202.80	Υ
Bid Allowance			\$600,000.00			

Lot Total **\$943,417.20** 

Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch.	Docs
PNC2120194B103-01	Division 7: Aluminum Standing Seam Roof		First Offer - \$5.80	600 / square foot	\$3,480.00		Y

Bid Allowance \$600,000.00

				Lot Total	\$3,480.00	
Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
PNC2120194B104-01	Division 10: Informational Kiosk	Supplier Product Code:	First Offer - \$14,370.36	2 / lump sum	\$28,740.72	Y
PNC2120194B104-02	Division 10: Informational Kiosk E- coating	Supplier Product Code:	First Offer - \$2,400.00	1 / lump sum	\$2,400.00	Υ

**Bid Allowance** 

\$600,000.00

				Lot Total	\$31,140.72		
Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs	
PNC2120194B105-01	Division 11: Playground A	Supplier Product Code:	First Offer - \$69,240.42	1 / lump sum	\$69,240.42	Υ	
PNC2120194B105-02	Division 11: Playground B	Supplier Product Code:	First Offer - \$106,732.25	1 / lump sum	\$106,732.25	Υ	
PNC2120194B105-03	Division 11: Playground C	Supplier Product Code:	First Offer - \$94,800.00	1 / lump sum	\$94,800.00	Υ	
PNC2120194B105-04	Division 11: Playground D	Supplier Product Code:	First Offer - \$98,408.48	1 / lump sum	\$98,408.48	Y	
PNC2120194B105-05	Division 11: Playground E	Supplier Product Code:	First Offer - \$122,146.61	1 / lump sum	\$122,146.61	Y	
PNC2120194B105-06	Division 11: Playground F	Supplier Product Code:	First Offer - \$110,400.00	1 / lump sum	\$110,400.00	Υ	
PNC2120194B105-07	Division 11: Playground G	Supplier Product Code:	First Offer - \$40,320.00	1 / lump sum	\$40,320.00	Υ	
PNC2120194B105-08	Division 11: Playground H	Supplier Product Code:	First Offer - \$54,696.10	1 / lump sum	\$54,696.10	Y	
PNC2120194B105-09	Division 11: Playground I	Supplier Product Code:	First Offer - \$90,000.00	1 / lump sum	\$90,000.00	Υ	
PNC2120194B105-10	Division 11: Playground J	Supplier Product Code:	First Offer - \$95,110.78	1 / lump sum	\$95,110.78	Υ	
PNC2120194B105-11	Division 11: Play Components Price Group A	Supplier Product Code:	First Offer - \$1,800.00	3 / each	\$5,400.00	Y	
PNC2120194B105-12	Division 11: Play Components Price Group B	Supplier Product Code:	First Offer - \$5,400.00	3 / each	\$16,200.00	Y	

PNC2120194B105-13	Division 11: Pla Components P Group C		First Offer - \$9,600.00	1 / each	\$9,600.00	Y
PNC2120194B105-14	Division 11: Pla Components P Group D		First Offer - \$15,600.00	1 / each	\$15,600.00	Υ
Bid Allowance			\$600,000.00			
				Lot Total	\$928,654.64	
Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
PNC2120194B106-01	Division 13: Square Prefab Shelter	Supplier Product Code:	First Offer - \$38,002.80	1 / lump sum	\$38,002.80	Y
PNC2120194B106-02	Division 13: Hexagonal Prefab Shelter	Supplier Product Code:	First Offer - \$36,578.40	2 / lump sum	\$73,156.80	Υ
PNC2120194B106-03	Division 13: Additional E- coating	Supplier Product Code:  Supplier Notes: Not available from manufacture.	First Offer - \$0.01	3 / lump sum	\$0.03	Y
PNC2120194B106-04	Division 13: Square Prefab Shelter	Supplier Product Code:	First Offer - \$45,643.20	1 / lump sum	\$45,643.20	Y
PNC2120194B106-05	Division 13: Additional E- coating	Supplier Product Code: Supplier Notes: Not available from manufacture.	First Offer - \$0.01	1 / lump sum	\$0.01	Y

PNC2120194B106-06	Division 13: Hexagonal Prefab Shelter	Supplier Product Code:	First Offer - \$56,324.40	1 / lump sum	\$56,324.40	Y
PNC2120194B106-07	Division 13: Additional E- coating	Supplier Product Code: Supplier Notes: Not available from manufacture.	First Offer - \$0.01	1 / lump sum	\$0.01	Y
PNC2120194B106-08	Division 13: Prefab Shelter Upgrade	Supplier Product Code:	First Offer - \$1,200.00	6 / each	\$7,200.00	Y
PNC2120194B106-09	Division 13: Prefab Shelter Upgrade	Supplier Product Code:	First Offer - \$900.00	6 / each	\$5,400.00	Y
PNC2120194B106-10	Division 13: Shade Structure	Supplier Product Code:	First Offer - \$14,400.00	1 / lump sum	\$14,400.00	Y
PNC2120194B106-11	Division 13: Shade Structure	Supplier Product Code:	First Offer - \$18,996.00	1 / lump sum	\$18,996.00	Y
PNC2120194B106-12	Division 13: Shade Structure	Supplier Product Code:	First Offer - \$22,698.00	1 / lump sum	\$22,698.00	Υ
PNC2120194B106-13	Division 13: Shade Structure	Supplier Product Code:	First Offer - \$27,860.40	2 / lump sum	\$55,720.80	Υ
PNC2120194B106-14	Division 13: Shade Structure	Supplier Product Code:	First Offer - \$28,240.80	2 / lump sum	\$56,481.60	Υ
Bid Allowance			\$600,000.00	Lot Total	\$394,023.65	
Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
PNC2120194B107-01	Division 22:	Supplier	First Offer - \$8,795.34	2 / lump sum	\$17,590.68	Υ

	Freestanding water cooler with bottle filler	Product Code:				
PNC2120194B107-02	Division 22: Freestanding drinking fountain	Supplier Product Code:	First Offer - \$7,777.38	1 / lump sum	\$7,777.38	Υ
Bid Allowance			\$600,000.00	)		
					\$25,368.06	
Item#	Line Item	Notes	Unit Price	Qty/Unit	F	ttch. Docs
PNC2120194B108-01	Division 26: Solar Powered Area Luminaire, 4500K	Supplier Product Code:	First Offer - \$3,954.00	10 / each	\$39,540.00	Y
PNC2120194B108-02	Division 26: Solar Powered Area Luminaire, 4500K	Supplier Product Code:	First Offer - \$3,954.00	10 / each	\$39,540.00	Y
PNC2120194B108-03	Division 26: Matching Pole for Solar Powered Area Luminaire	• •	First Offer - \$2,490.66	10 / each	\$24,906.60	Y
PNC2120194B108-04	Division 26: Solar Powered Luminaire with Pole	Supplier Product Code:	First Offer - \$7,130.78	10 / each	\$71,307.80	Y
PNC2120194B108-05	Division 26: LED Bollard	Supplier Product Code:	First Offer - \$1,259.46	10 / each	\$12,594.60	Υ
PNC2120194B108-06	Division 26: LED Area Luminaire	Supplier Product Code:	First Offer - \$730.45	10 / each	\$7,304.50	Υ
PNC2120194B108-07	Division 26: LED Area Luminaire 5000K	Supplier Product Code:	First Offer - \$855.00	10 / each	\$8,550.00	Υ
PNC2120194B108-08	Division 26: LED Area Luminaire 5000K	Supplier Product Code:	First Offer - \$983.40	10 / each	\$9,834.00	Υ
PNC2120194B108-09	Division 26: LED Area Luminaire 5000K	Supplier Product Code:	First Offer - \$855.00	10 / each	\$8,550.00	Υ
PNC2120194B108-10	Division 26: LED Area Luminaire 4000K	Supplier Product Code:	First Offer - \$745.86	10 / each	\$7,458.60	Υ

PNC2120194B108-11	Division 26: LED Flood Light 5700K	Supplier Product Code:	First Offer - \$503.22	5 / each	\$2,516.10	Υ
PNC2120194B108-12	Division 26: FWC certified LED Street Light	Supplier Product Code:	First Offer - \$2,395.80	10 / each	\$23,958.00	Y
PNC2120194B108-13	Division 26: Round Concrete Pole Standard	Supplier Product Code:	First Offer - \$3,067.68	10 / each	\$30,676.80	Υ
PNC2120194B108-14	Division 26: Round Concrete or Composite Pole Standard	Supplier Product Code:	First Offer - \$2,387.16	10 / each	\$23,871.60	Υ
PNC2120194B108-15	Division 26: Round Concrete or Composite Pole Standard	Supplier Product Code:	First Offer - \$2,541.24	10 / each	\$25,412.40	Υ
PNC2120194B108-16	Division 26: Round Concrete or Composite Pole Standard	Supplier Product Code:	First Offer - \$2,765.94	5 / each	\$13,829.70	Υ
PNC2120194B108-17	Division 26: Ameron Washington Pole	Supplier Product Code:	First Offer - \$4,897.38	5 / each	\$24,486.90	Υ
PNC2120194B108-18	Division 26: Precast Concrete Pole	Supplier Product Code:	First Offer - \$1,847.88	10 / each	\$18,478.80	Υ
PNC2120194B108-19	Division 26: Precast Concrete Pole	Supplier Product Code:	First Offer - \$2,077.68	10 / each	\$20,776.80	Υ
PNC2120194B108-20	Division 26: Precast Concrete Pole	Supplier Product Code:	First Offer - \$2,199.66	10 / each	\$21,996.60	Υ
PNC2120194B108-21	Division 26: Meter Can	Supplier Product Code:	First Offer - \$647.94	2 / each	\$1,295.88	Υ
PNC2120194B108-22	Division 26: Meter Can	Supplier Product Code:	First Offer - \$1,458.00	2 / each	\$2,916.00	Υ

PNC2120194B108-23	Division 26: Disconnect Switch	Supplier Product Code:	First Offer - \$2,582.40	2 / each	\$5,164.80	Y
PNC2120194B108-24	Division 26: Disconnect Switch	Supplier Product Code:	First Offer - \$4,054.80	2 / each	\$8,109.60	Υ
PNC2120194B108-25	Division 26: Disconnect Switch	Supplier Product Code:	First Offer - \$5,606.40	2 / each	\$11,212.80	Υ
PNC2120194B108-26	Division 26: Panel Board	Supplier Product Code:	First Offer - \$3,582.00	2 / each	\$7,164.00	Υ
PNC2120194B108-27	Division 26: Panel Board	Supplier Product Code:	First Offer - \$3,582.00	2 / each	\$7,164.00	Y
PNC2120194B108-28	Division 26: Panel Board	Supplier Product Code:	First Offer - \$3,511.20	2 / each	\$7,022.40	Y
PNC2120194B108-29	Division 26: Panel Board	Supplier Product Code:	First Offer - \$4,026.00	2 / each	\$8,052.00	Υ
PNC2120194B108-30	Division 26: Grounding Electrode	Supplier Product Code:	First Offer - \$138.28	20 / each	\$2,765.60	Υ
PNC2120194B108-31	Division 26: Pull and Junction Boxes	Supplier Product Code:	First Offer - \$574.80	50 / each	\$28,740.00	Y
PNC2120194B108-32	Division 26: Circuit Breaker	Supplier Product Code:	First Offer - \$99.60	10 / each	\$996.00	Y
PNC2120194B108-33	Division 26: Circuit Breaker	Supplier Product Code:	First Offer - \$178.80	10 / each	\$1,788.00	Y
PNC2120194B108-34	Division 26: Circuit Breaker	Supplier Product Code:	First Offer - \$252.25	10 / each	\$2,522.50	Υ
PNC2120194B108-35	Division 26: Circuit	Supplier	First Offer - \$343.73	10 / each	\$3,437.30	Y

	Breaker	Product Code:	y Commissioners			
PNC2120194B108-36	Division 26: Circuit Breaker	Supplier Product Code:	First Offer - \$343.73	10 / each	\$3,437.30	Y
PNC2120194B108-37	Division 26: Circuit Breaker	Supplier Product Code:	First Offer - \$343.73	10 / each	\$3,437.30	Υ
PNC2120194B108-38	Division 26: Circuit Breaker	Supplier Product Code:	First Offer - \$417.88	7 / each	\$2,925.16	Y
PNC2120194B108-39	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$4.62	300 / linear foot	\$1,386.00	Υ
PNC2120194B108-40	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$5.62	300 / linear foot	\$1,686.00	Y
PNC2120194B108-41	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$7.14	300 / linear foot	\$2,142.00	Υ
PNC2120194B108-42	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$8.90	300 / linear foot	\$2,670.00	Y
PNC2120194B108-43	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$13.79	300 / linear foot	\$4,137.00	Y
PNC2120194B108-44	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$16.86	300 / linear foot	\$5,058.00	Y
PNC2120194B108-45	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$24.18	300 / linear foot	\$7,254.00	Υ
PNC2120194B108-46	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$29.80	300 / linear foot	\$8,940.00	Y
PNC2120194B108-47	Division 26: Electrical service feeder	Supplier Product Code:	First Offer - \$73.91	300 / linear foot	\$22,173.00	Y

PNC2120194B108-48	Division 26: PVC Conduit	Supplier Product Code:	First Offer - \$9.77	300 / linear foot	\$2,931.00	Y
PNC2120194B108-49	Division 26: PVC Conduit	Supplier Product Code:	First Offer - \$20.02	300 / linear foot	\$6,006.00	Y
PNC2120194B108-50	Division 26: PVC Conduit	Supplier Product Code:	First Offer - \$10.07	300 / linear foot	\$3,021.00	Y
PNC2120194B108-51	Division 26: PVC Conduit	Supplier Product Code:	First Offer - \$13.04	300 / linear foot	\$3,912.00	Υ
PNC2120194B108-52	Division 26: PVC Conduit	Supplier Product Code:	First Offer - \$21.79	300 / linear foot	\$6,537.00	Υ
PNC2120194B108-53	Division 26: GRC Conduit	Supplier Product Code:	First Offer - \$6.89	300 / linear foot	\$2,067.00	Y
PNC2120194B108-54	Division 26: GRC Conduit	Supplier Product Code:	First Offer - \$10.69	100 / linear foot	\$1,069.00	Y
PNC2120194B108-55	Division 26: GRC Conduit	Supplier Product Code:	First Offer - \$22.10	100 / linear foot	\$2,210.00	Υ
PNC2120194B108-56	Division 26: GRC Conduit	Supplier Product Code:	First Offer - \$51.14	100 / linear foot	\$5,114.00	Υ
Bid Allowance			\$600,000.00	)		
				Lot Total	\$632,053.44	
Item#	Line Item	Notes	Unit Price	Qty/Unit	Α	ttch. Docs
PNC2120194B109-01	Divisions 26 and 32: Irrigation Signal Wire		First Offer - \$0.38	1000 / linear foot	\$380.00	Y
PNC2120194B109-02	Divisions 26 and 32:	Supplier Product	First Offer - \$0.58	1000 / linear foot	\$580.00	Υ

Code:

Wire

		000	inty Commissioners			
PNC2120194B109-03	Divisions 26 and 32: Irrigation Wire Splice Box		First Offer - \$3.84	25 / linear foot	\$96.00	Y
PNC2120194B109-04	Divisions 26 and 32: Irrigation Power Wire	Supplier Product Code:	First Offer - \$3.84	1000 / linear foot	\$3,840.00	Y
PNC2120194B109-05	Divisions 26 and 32: Irrigation Power Wire	Supplier Product Code:	First Offer - \$6.30	1000 / linear foot	\$6,300.00	Y
PNC2120194B109-06	Divisions 26 and 32: Irrigation Power Wire	Supplier Product Code:	First Offer - \$6.90	1000 / linear foot	\$6,900.00	Y
PNC2120194B109-07	Divisions 26 and 32: Irrigation Power Wire	Supplier Product Code:	First Offer - \$7.80	1000 / linear foot	\$7,800.00	Y
PNC2120194B109-08	Divisions 26 and 32: Irrigation Wire Splice		First Offer - \$15.60	10 / each	\$156.00	Y
PNC2120194B109-09	Divisions 26 and 32: Irrigation Pump Station Disconnect	Supplier Product Code:	First Offer - \$1,420.96	2 / each	\$2,841.92	Y
PNC2120194B109-10	Divisions 26 and 32: Irrigation Pump Station Disconnect	Supplier Product Code:	First Offer - \$1,420.96	2 / each	\$2,841.92	Y
PNC2120194B109-11	Divisions 26 and 32: Irrigation Pump Station Disconnect	Supplier Product Code:	First Offer - \$1,493.48	2 / each	\$2,986.96	Y
PNC2120194B109-12	Divisions 26 and 32: Irrigation Pump Station Disconnect	Supplier Product Code:	First Offer - \$1,493.48	2 / each	\$2,986.96	Y
Bid Allowance			\$600,000.00	l ot Total	\$37,709.76	
Item#	Line Item	Notes	Unit	Price Qty/Unit		Attch. Doc
PNC2120194B110-01	Division 31: Tree Removal	Supplie Product Code:		<b>220.00</b> 10 / each	\$7,200.00	Υ
PNC2120194B110-02	Division 31: Tree Removal	Supplie Product		<b>40.00</b> 10 / each	\$14,400.00	Υ

Υ

\$21,600.00

10 / each

First Offer - \$2,160.00

Code:

Supplier

PNC2120194B1--10-03 Division 31: Tree

PNC2120194B110-03	Removal		Product Code:	First Offer - 3	62,160.00	10 / each	\$21,600.00	Y
PNC2120194B110-04	Division 31: Man Removal of Exotic		Supplier Product Code:	First Offer	- \$96.00	50 / hour	\$4,800.00	Υ
PNC2120194B110-05	Division 31: Folia Removal of Exotic		Supplier Product Code:	First Offer	- \$84.00	25 / hour	\$2,100.00	Y
PNC2120194B110-06	Division 31: Stun Treatment	np	Supplier Product Code:	First Offer - \$	3,600.00	2 / acre	\$7,200.00	Y
PNC2120194B110-07	Division 31: Basa Removal of Exotic		Supplier Product Code:	First Offer - \$	3,000.00	2/acre	\$6,000.00	Y
PNC2120194B110-08	Division 31: Rem Exotics, Frill and G		Supplier Product Code:	First Offer -	\$120.00	25 / hour	\$3,000.00	Y
PNC2120194B110-09	Division 31: Chip with recycling	ping	Supplier Product Code:	First Offer -	\$192.00	25 / hour	\$4,800.00	Y
PNC2120194B110-10	Division 31: Chip stockpiling	ping for	Supplier Product Code:	First Offer -	\$192.00	25 / hour	\$4,800.00	Υ
Bid Allowance				\$6	500,000.00			
Item #	Line Item	Notes		Unit Price	Qty/Unit	Lot Total	\$75,900.00	Attch. Docs
PNC2120194B111-01	Division 32: Color-coated Chain Link Fence	Suppli Produ Code:	er Fir	st Offer - \$31.20	1000 / lin		\$31,200.00	Y
PNC2120194B111-02	Division 32: Color-coated Chain Link Fence	Suppli Produc Code:		st Offer - \$36.00	1000 / lin	ear foot	\$36,000.00	Υ
PNC2120194B111-03	Division 32: Color-coated	Suppli Produ		st Offer - \$48.00	1000 / lin	ear foot	\$48,000.00	Υ
2020				RidSync				

			County Commissioners			
	Chain Link Fence	Code:				
PNC2120194B111-04	Division 32: Grounding of Chain Link Fencing	Supplier Product Code:	First Offer - \$1,500.00	10 / each	\$15,000.00	Y
PNC2120194B111-05	Division 32: Bottom Rail for Chain Link Fence	Supplier Product Code:	First Offer - \$4.80	1000 / linear foot	\$4,800.00	Υ
PNC2120194B111-06	Division 32: Remove and Dispose of Fencing	Supplier Product Code:	First Offer - \$3.90	1000 / linear foot	\$3,900.00	Y
PNC2120194B111-07	Division 32: Remove and Dispose of Fencing	Supplier Product Code:	First Offer - \$5.40	200 / linear foot	\$1,080.00	Υ
PNC2120194B111-08	Division 32: Additional Line Post with Caps	Supplier Product Code:	First Offer - \$72.00	50 / each	\$3,600.00	Y
PNC2120194B111-09	Division 32: Corner Post with Complete Double Brace	Supplier Product Code:	First Offer - \$174.00	50 / each	\$8,700.00	Y
PNC2120194B111-10	Division 32: Additional Line Post with Caps	Supplier Product Code:	First Offer - \$96.00	2 / each	\$192.00	Y
PNC2120194B111-11	Division 32: Corner Post with Double Brace Assembly	Supplier Product Code:	First Offer - \$186.00	4 / each	\$744.00	Y
PNC2120194B111-12	Division 32: Single Gate, 4 x 6 ft.	Supplier Product Code:	First Offer - \$420.00	10 / each	\$4,200.00	Υ
PNC2120194B111-13	Division 32: Double Gate, 6 to 8 ft.	Supplier Product Code:	First Offer - \$792.00	6 / each	\$4,752.00	Υ
PNC2120194B111-14	Division 32: Double Gate, 12	Supplier Product	First Offer - \$1,572.00	4 / each	\$6,288.00	Υ

to 16 ft. Code:

PNC2120194B111-15	Division 32: Double Gate, 20 to 24 ft.	Supplier Product Code:	First Offer - \$2,364.00	1 / each	\$2,364.00	Y
PNC2120194B111-16	Division 32: Single Gate, 4 x 8 ft.	Supplier Product Code:	First Offer - \$432.00	3 / each	\$1,296.00	Y
PNC2120194B111-17	Division 32: Double Gate, 8 x 8 ft.	Supplier Product Code:	First Offer - \$858.00	1 / each	\$858.00	Y
PNC2120194B111-18	Division 32: Double Gate, 12 to 16 ft.	Supplier Product Code:	First Offer - \$1,716.00	4 / each	\$6,864.00	Y
PNC2120194B111-19	Division 32: Double Gate, 20 to 24 ft.	Supplier Product Code:	First Offer - \$2,568.00	2 / each	\$5,136.00	Y
PNC2120194B111-20	Division 32: Cantilevered Sliding Double Gate	Supplier Product Code:	First Offer - \$3,540.00	1 / each	\$3,540.00	Y
PNC2120194B111-21	Division 32: Cantilevered Sliding Double Gate	Supplier Product Code:	First Offer - \$3,852.00	1 / each	\$3,852.00	Υ
PNC2120194B111-22	Division 32: Cantilevered Sliding Double Gate	Supplier Product Code:	First Offer - \$4,164.00	1 / each	\$4,164.00	Υ
PNC2120194B111-23	Division 32: Cantilevered Sliding Double Gate	Supplier Product Code:	First Offer - \$5,904.00	1 / each	\$5,904.00	Y
PNC2120194B111-24	Division 32: Cantilevered Sliding Double Gate	Supplier Product Code:	First Offer - \$6,408.00	1 / each	\$6,408.00	Y
PNC2120194B111-25	Division 32: Cantilevered Sliding Double Gate	Supplier Product Code:	First Offer - \$6,936.00	1 / each	\$6,936.00	Υ

PNC2120194B111-26	Division 32: Temporary Fence	Supplier Product Code:	First Offer - \$3.00	3000 / linear foot	\$9,000.00	Y
PNC2120194B111-27	Division 32: Steel Picket Fence	Supplier Product Code:	First Offer - \$90.00	400 / linear foot	\$36,000.00	Y
PNC2120194B111-28	Division 32: Steel Picket Fence Single Swing Gate	Supplier Product Code:	First Offer - \$1,440.00	4 / each	\$5,760.00	Y
PNC2120194B111-29	Division 32: Steel Picket Fence Double Swing Gate	Supplier Product Code:	First Offer - \$2,520.00	4 / each	\$10,080.00	Y
PNC2120194B111-30	Division 32: Cantilevered Steel Picket Sliding Gate	Supplier Product Code:	First Offer - \$5,400.00	2 / each	\$10,800.00	Y
PNC2120194B111-31	Division 32: Masonry Column	Supplier Product Code:	First Offer - \$762.53	10 / each	\$7,625.30	Y
PNC2120194B111-32	Division 32: Recycled Plastic Double Rail Fence	Supplier Product Code:	First Offer - \$78.00	100 / linear foot	\$7,800.00	Y
PNC2120194B111-33	Division 32: HDPE Four Rail Equine Fence	Supplier Product Code:	First Offer - \$48.92	500 / linear foot	\$24,460.00	Υ
PNC2120194B111-34	Division 32: Tree Relocation 21 to 30 ft.	Supplier Product Code:	First Offer - \$3,600.00	3 / each	\$10,800.00	Υ
PNC2120194B111-35	Division 32: Tree Removal greater than 30 ft.	Supplier Product Code:	First Offer - \$6,000.00	2 / each	\$12,000.00	Y
PNC2120194B111-36	Division 32: Palm Relocation less than 15 ft.	Supplier Product Code:	First Offer - \$840.00	3 / each	\$2,520.00	Υ
PNC2120194B111-37	Division 32:	Supplier	First Offer - \$1,020.00	3 / each	\$3,060.00	Υ

			County Commissioners			
	Palm Relocation 15 to 25 ft.	Product Code:				
PNC2120194B111-38	Division 32: Palm Relocation 25 to 35 ft.	Supplier Product Code:	First Offer - \$1,200.00	3 / each	\$3,600.00	Υ
PNC2120194B111-39	Division 32: Palm Relocation greater than 35 ft.	Supplier Product Code:	First Offer - \$1,440.00	2 / each	\$2,880.00	Υ
PNC2120194B111-40	Division 32: Landscaping Trees Price Group A	Supplier Product Code:	First Offer - \$38.40	350 / linear foot	\$13,440.00	Y
PNC2120194B111-41	Division 32: Landscaping Trees Price Group B	Supplier Product Code:	First Offer - \$61.20	350 / linear foot	\$21,420.00	Y
PNC2120194B111-42	Division 32: Landscaping Trees Price Group C	Supplier Product Code:	First Offer - \$49.20	350 / linear foot	\$17,220.00	Υ
PNC2120194B111-43	Division 32: Landscaping Trees Price Group D	Supplier Product Code:	First Offer - \$67.20	350 / linear foot	\$23,520.00	Υ
PNC2120194B111-44	Division 32: Landscaping Trees Price Group E	Supplier Product Code:	First Offer - \$72.00	350 / linear foot	\$25,200.00	Y
PNC2120194B111-45	Division 32: Container Trees and Palms Price Group A	Supplier Product Code:	First Offer - \$60.00	6 / each	\$360.00	Υ
PNC2120194B111-46	Division 32: Container Trees and Palms Price Group B	Supplier Product Code:	First Offer - \$60.00	6 / each	\$360.00	Y
PNC2120194B111-47	Division 32: Container Trees and Palms Price Group C	Supplier Product Code:	First Offer - \$84.00	6 / each	\$504.00	Y

PNC2120194B111-48	Division 32: Container Trees and Palms Price Group D	Supplier Product Code:	First Offer - \$120.00	6 / each	\$720.00	Υ
PNC2120194B111-49	Division 32: Shrubs Price Group A	Supplier Product Code:	First Offer - \$14.40	150 / each	\$2,160.00	Y
PNC2120194B111-50	Division 32: Shrubs Price Group B	Supplier Product Code:	First Offer - \$19.20	150 / each	\$2,880.00	Y
PNC2120194B111-51	Division 32: Shrubs Price Group C	Supplier Product Code:	First Offer - \$42.00	150 / each	\$6,300.00	Y
PNC2120194B111-52	Division 32: Provide Argentine Bahia	Supplier Product Code:	First Offer - \$0.54	4000 / square foot	\$2,160.00	Υ
PNC2120194B111-53	Division 32: Provide Pensacola Bahia	Supplier Product Code:	First Offer - \$0.54	2000 / square foot	\$1,080.00	Υ
PNC2120194B111-54	Division 32: Provide St. Augustine Sod	Supplier Product Code:	First Offer - \$0.66	2000 / square foot	\$1,320.00	Υ
PNC2120194B111-55	Division 32: Provide Floratam Sod	Supplier Product Code:	First Offer - \$0.66	2000 / square foot	\$1,320.00	Y
PNC2120194B111-56	Division 32: Provide Bermuda Grass Topsoil	Supplier Product Code:	First Offer - \$48.00	50 / cubic yard	\$2,400.00	Υ
PNC2120194B111-57	Division 32: Provide Rolled Tifway 419 Bermuda Grass	Supplier Product Code:	First Offer - \$0.78	3500 / square foot	\$2,730.00	Y
PNC2120194B111-58	Division 32: Provide Tifway 419 Bermuda Grass	Supplier Product Code:	First Offer - \$600.00	10 / each	\$6,000.00	Υ
PNC2120194B111-59	Division 32: Provide Seeding	Supplier Product	First Offer - \$2.40	2000 / square yard	\$4,800.00	Υ

			County Commissioners			
		Code:				
PNC2120194B111-60	Division 32: Fertilizer, Herbicides or Insecticides application	Supplier Product Code:	First Offer - \$120.00	50 / hour	\$6,000.00	Y
PNC2120194B111-61	Division 32: Additional Watering after Final Completion	Supplier Product Code:	First Offer - \$0.55	1500 / kilogallon	\$825.00	Υ
PNC2120194B111-62	Division 32: Synthetic Grass Surfacing system	Supplier Product Code:	First Offer - \$18.95	4000 / square foot	\$75,800.00	Υ
PNC2120194B111-63	Division 32: Synthetic Grass Surfacing system	Supplier Product Code:	First Offer - \$21.26	1150 / square foot	\$24,449.00	Y
PNC2120194B111-64	Division 32: Synthetic Grass Surfacing system	Supplier Product Code:	First Offer - \$22.97	1000 / square foot	\$22,970.00	Y
PNC2120194B111-65	Division 32: SBR Bonded Mulch surface system	Supplier Product Code:	First Offer - \$17.65	2000 / square foot	\$35,300.00	Y
PNC2120194B111-66	Division 32: SBR Bonded Mulch surface system	Supplier Product Code:	First Offer - \$17.32	3000 / square foot	\$51,960.00	Y
PNC2120194B111-67	Division 32: EPDM surface system	Supplier Product Code:	First Offer - \$15.36	2000 / square foot	\$30,720.00	Y
PNC2120194B111-68	Division 32: EPDM surface system	Supplier Product Code:	First Offer - \$15.49	3000 / square foot	\$46,470.00	Y
PNC2120194B111-69	Division 32: EPDM surface system	Supplier Product Code:	First Offer - \$18.38	1150 / square foot	\$21,137.00	Y
PNC2120194B111-70	Division 32: Synthetic Tennis	Supplier Product	First Offer - \$1.20	2810 / square foot	\$3,372.00	Υ

# Court Surfacing **Code:** System

PNC2120194B111-71	Division 32: Lateral Pipe	Supplier Product Code:	First Offer - \$2.76	500 / linear foot	\$1,380.00	Υ
PNC2120194B111-72	Division 32: Lateral Pipe	Supplier Product Code:	First Offer - \$3.60	500 / linear foot	\$1,800.00	Y
PNC2120194B111-73	Division 32: Lateral Pipe	Supplier Product Code:	First Offer - \$6.30	500 / linear foot	\$3,150.00	Y
PNC2120194B111-74	Division 32: Lateral Pipe	Supplier Product Code:	First Offer - \$7.80	500 / linear foot	\$3,900.00	Y
PNC2120194B111-75	Division 32: Lateral Pipe	Supplier Product Code:	First Offer - \$6.00	500 / linear foot	\$3,000.00	Y
PNC2120194B111-76	Division 32: Lateral Pipe	Supplier Product Code:	First Offer - \$7.80	500 / linear foot	\$3,900.00	Y
PNC2120194B111-77	Division 32: Main Line Pipe	Supplier Product Code:	First Offer - \$12.00	500 / linear foot	\$6,000.00	Y
PNC2120194B111-78	Division 32: Main Line Pipe	Supplier Product Code:	First Offer - \$21.60	500 / linear foot	\$10,800.00	Y
PNC2120194B111-79	Division 32: Main Line Pipe	Supplier Product Code:	First Offer - \$54.00	500 / linear foot	\$27,000.00	Y
PNC2120194B111-80	Division 32: Thrust Block	Supplier Product Code:	First Offer - \$60.00	20 / each	\$1,200.00	Y
PNC2120194B111-81	Division 32: Electrical Wire Sleeving	Supplier Product Code:	First Offer - \$3.60	20 / linear foot	\$72.00	Y
PNC2120194B111-82	Division 32: Pipe Sleeving	Supplier Product Code:	First Offer - \$2.11	20 / linear foot	\$42.20	Υ

PNC2120194B111-83	Division 32: Pipe Sleeving	Supplier Product Code:	First Offer - \$12.00	20 / linear foot	\$240.00	Y
PNC2120194B111-84	Division 32: Pipe Sleeving	Supplier Product Code:	First Offer - \$21.60	20 / linear foot	\$432.00	Y
PNC2120194B111-85	Division 32: Pipe Sleeving	Supplier Product Code:	First Offer - \$24.00	20 / linear foot	\$480.00	Y
PNC2120194B111-86	Division 32: Pipe Sleeving	Supplier Product Code:	First Offer - \$30.00	20 / linear foot	\$600.00	Y
PNC2120194B111-87	Division 32: Pipe Sleeving	Supplier Product Code:	First Offer - \$30.00	20 / linear foot	\$600.00	Υ
PNC2120194B111-88	Division 32: Lake source suction line	Supplier Product Code:	First Offer - \$32.70	100 / linear foot	\$3,270.00	Υ
PNC2120194B111-89	Division 32: Swing check valve	Supplier Product Code:	First Offer - \$945.60	5 / each	\$4,728.00	Υ
PNC2120194B111-90	Division 32: Lake source suction line	Supplier Product Code:	First Offer - \$44.28	100 / linear foot	\$4,428.00	Υ
PNC2120194B111-91	Division 32: Swing check valve	Supplier Product Code:	First Offer - \$1,098.00	5 / each	\$5,490.00	Υ
PNC2120194B111-92	Division 32: Lake source suction line	Supplier Product Code:	First Offer - \$71.52	100 / linear foot	\$7,152.00	Υ
PNC2120194B111-93	Division 32: Swing check valve	Supplier Product Code:	First Offer - \$1,544.28	5 / each	\$7,721.40	Y
PNC2120194B111-94	Division 32: Well source suction line	Supplier Product Code:	First Offer - \$83.16	100 / linear foot	\$8,316.00	Y
	Division 32:	Supplier	First Offer - \$1,022.76	5 / each	\$5,113.80	Υ

			County Commissioners			
	Swing Check suction line	Product Code:				
PNC2120194B111-96	Division 32: Well source suction line	Supplier Product Code:	First Offer - \$95.64	100 / linear foot	\$9,564.00	Υ
PNC2120194B111-97	Division 32: Swing check suction line	Supplier Product Code:	First Offer - \$1,298.28	5 / each	\$6,491.40	Υ
PNC2120194B111-98	Division 32: Well source suction line	Supplier Product Code:	First Offer - \$213.96	100 / linear foot	\$21,396.00	Υ
PNC2120194B111-99	Division 32: Swing check suction line	Supplier Product Code:	First Offer - \$1,157.16	5 / each	\$5,785.80	Y
PNC2120194B111-100	Division 32: Well Drilling and Casing	Supplier Product Code:	First Offer - \$102.00	100 / linear foot	\$10,200.00	Υ
PNC2120194B111-101	Division 32: Centrifugal Pump System	Supplier Product Code:	First Offer - \$19,708.02	2 / each	\$39,416.04	Υ
PNC2120194B111-102	Division 32: Centrifugal Pump System	Supplier Product Code:	First Offer - \$18,855.97	2 / each	\$37,711.94	Υ
PNC2120194B111-103	Division 32: Centrifugal Pump System	Supplier Product Code:	First Offer - \$19,270.36	2 / each	\$38,540.72	Y
PNC2120194B111-104	Division 32: Centrifugal Pump System	Supplier Product Code:	First Offer - \$24,142.86	1 / each	\$24,142.86	Υ
PNC2120194B111-105	Division 32: Centrifugal Pump System	Supplier Product Code:	First Offer - \$29,216.74	1 / each	\$29,216.74	Υ
PNC2120194B111-106	Division 32: Centrifugal Pump System	Supplier Product Code:	First Offer - \$32,027.80	1 / each	\$32,027.80	Υ
PNC2120194B111-107	Division 32: Lake Refill	Supplier Product Code:	First Offer - \$27,973.58	1 / each	\$27,973.58	Υ

PNC2120194B111-108	Division 32: Calibrate Flow Meter	Supplier Product Code:	First Offer - \$512.16	1 / each	\$512.16	Y
PNC2120194B111-109	Division 32: Flow Meter	Supplier Product Code:	First Offer - \$2,118.48	1 / each	\$2,118.48	Y
PNC2120194B111-110	Division 32: Flow Meter	Supplier Product Code:	First Offer - \$3,509.46	1 / each	\$3,509.46	Y
PNC2120194B111-111	Division 32: Intake Screen	Supplier Product Code:	First Offer - \$9,068.72	1 / each	\$9,068.72	Y
PNC2120194B111-112	Division 32: Intake Screen	Supplier Product Code:	First Offer - \$10,256.00	1 / each	\$10,256.00	Y
PNC2120194B111-113	Division 32: Irrigation Controller	Supplier Product Code:	First Offer - \$460.80	1 / each	\$460.80	Y
PNC2120194B111-114	Division 32: Pump System Controller	Supplier Product Code:	First Offer - \$16,740.65	1 / each	\$16,740.65	Y
PNC2120194B111-115	Division 32: Pump System Controller	Supplier Product Code:	First Offer - \$21,967.01	1 / each	\$21,967.01	Y
PNC2120194B111-116	Division 32: Lake source suction line	Supplier Product Code:	First Offer - \$98.64	100 / linear foot	\$9,864.00	Y
PNC2120194B111-117	Division 32: Swing Check Valve	Supplier Product Code:	First Offer - \$2,241.86	1 / each	\$2,241.86	Y
PNC2120194B111-118	Division 32: Pump system discharge	Supplier Product Code:	First Offer - \$655.33	1 / each	\$655.33	Y
PNC2120194B111-119	Division 32: Pump system discharge	Supplier Product Code:	First Offer - \$946.33	1 / each	\$946.33	Y
PNC2120194B111-120	Division 32:	Supplier	First Offer - \$1,778.59	1 / each	\$1,778.59	Υ

Pump system discharge Product Code:

Bid Allowance \$600,000.00

Lot Total **\$1,290,461.97** 

Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Doc
PNC2120194B112-01	FDOT/Division 32: Work Zone Sign	Supplier Product Code:	First Offer - \$0.78	10 / day	\$7.80	Y
PNC2120194B112-02	FDOT/Division 32: Business Sign	Supplier Product Code:	First Offer - \$6.18	10 / day	\$61.80	Υ
PNC2120194B112-03	FDOT/Division 32: Temporary Concrete Barrier Wall	Supplier Product Code:	First Offer - \$42.00	100 / linear foot	\$4,200.00	Y
PNC2120194B112-04	FDOT/Division 32: Temporary Concrete Barrier Wall	Supplier Product Code:	First Offer - \$90.00	5 / day	\$450.00	Y
PNC2120194B112-05	FDOT/Division 32: Removable Pavement Marking Tape	Supplier Product Code:	First Offer - \$5.70	150 / linear foot	\$855.00	Y
PNC2120194B112-06	FDOT/Division 32: Artificial Covering or Rolled Erosion Control	Supplier Product Code:	First Offer - \$0.50	50 / square yard	\$25.00	Y
PNC2120194B112-07	FDOT/Division 32: Sediment Barrier	Supplier Product Code:	First Offer - \$0.82	200 / linear foot	\$164.00	Y
PNC2120194B112-08	FDOT/Division 32: Floating Turbidity Barrier	Supplier Product Code:	First Offer - \$8.82	300 / linear foot	\$2,646.00	Υ
PNC2120194B112-09	FDOT/Division 32: Staked Turbidity Barrier	Supplier Product Code:	First Offer - \$4.52	100 / linear foot	\$452.00	Υ
PNC2120194B112-10	FDOT/Division 32: Inlet Protection System	Supplier Product Code:	First Offer - \$60.00	3 / each	\$180.00	Y

PNC2120194B112-11	FDOT/Division 32: Clearing and Grubbing	Supplier Product Code:	First Offer - \$1.80	150 / square yard	\$270.00	Y
PNC2120194B112-12	FDOT/Division 32: Remove Existing Pavement or Concrete	Supplier Product Code:	First Offer - \$9.60	3000 / square yard	\$28,800.00	Υ
PNC2120194B112-13	FDOT/Division 32: Plugging Artesian Water Well	Supplier Product Code:	First Offer - \$2,800.00	1 / each	\$2,800.00	Y
PNC2120194B112-14	FDOT/Division 32: Regular Excavation	Supplier Product Code:	First Offer - \$7.80	200 / cubic yard	\$1,560.00	Y
PNC2120194B112-15	FDOT/Division 32: Channel Excavation	Supplier Product Code:	First Offer - \$24.00	200 / cubic yard	\$4,800.00	Y
PNC2120194B112-16	FDOT/Division 32: Embankment	Supplier Product Code:	First Offer - \$12.00	100 / cubic yard	\$1,200.00	Y
PNC2120194B112-17	FDOT/Division 32: Flowable Fill	Supplier Product Code:	First Offer - \$156.00	100 / cubic yard	\$15,600.00	Y
PNC2120194B112-18	FDOT/Division 32: Geosynthetic Reinforced Soil Slope	Supplier Product Code:	First Offer - \$8.40	30 / square foot	\$252.00	Y
PNC2120194B112-19	FDOT/Division 32: Subgrade Stabilization	Supplier Product Code:	First Offer - \$6.00	100 / square foot	\$600.00	Y
PNC2120194B112-20	FDOT/Division 32: Prepared Finished Soil Layer	Supplier Product Code:	First Offer - \$6.40	150 / square yard	\$960.00	Y
PNC2120194B112-21	FDOT/Division 32: Prepared Organic Soil Layer	Supplier Product Code:	First Offer - \$10.20	150 / square yard	\$1,530.00	Y
PNC2120194B112-22	FDOT/Division 32: Washed Rock	Supplier Product Code:	First Offer - \$27.53	1000 / ton	\$27,530.00	Υ

PNC2120194B1-12-23   FDOT/Division 32: Optional Base Group			,	Journey Commissioners			
PNC2120194B1-12-25	PNC2120194B112-23	Optional Base	Product	First Offer - \$23.17	50 / square yard	\$1,158.50	Υ
Milling Existing Asphalt Pavement   Code:   Supplier Product Code:   First Offer - \$5.20   1500 / square yard   \$7,800.00   Y	PNC2120194B112-24	Optional Base	Product	First Offer - \$32.47	50 / square yard	\$1,623.50	Y
Milling Existing Asphalt Pavement   Code:	PNC2120194B112-25	Milling Existing	Product	First Offer - \$4.00	1500 / square yard	\$6,000.00	Y
PNC2120194B1-12-28   FDOT/Division 32: Asphalt Pavement   Product Code:   First Offer - \$8.40   1500 / square yard   \$12,600.00   Y	PNC2120194B112-26	Milling Existing	Product	First Offer - \$5.20	1500 / square yard	\$7,800.00	Υ
Milling Existing Asphalt Pavement Code:  PNC2120194B112-29 FDOT/Division 32: Supplier Superpave Asphaltic Concrete  PNC2120194B112-30 FDOT/Division 32: Supplier Superpave Asphaltic Concrete  First Offer - \$188.52 500 / ton \$94,260.00 Y  PNC2120194B112-31 FDOT/Division 32: Class I Miscellaneous Code:  PNC2120194B112-32 FDOT/Division 32: Adjust Inlets Product Code:  First Offer - \$1,080.00 2 / each \$2,160.00 Y  PNC2120194B112-33 FDOT/Division 32: Adjust Maintenance Access Structure Access Structure Access Structure Code:  PNC2120194B112-34 FDOT/Division 32: Supplier Product Code:  PNC2120194B112-35 FDOT/Division 32: Supplier Product Code:  First Offer - \$3,213.60 1 / each \$3,213.60 Y  PNC2120194B112-35 FDOT/Division 32: Supplier Product Code:  First Offer - \$4,200.00 1 / each \$4,200.00 Y  PNC2120194B112-35 FDOT/Division 32: Supplier First Offer - \$7,800.00 1 / each \$7,800.00 Y	PNC2120194B112-27	Milling Existing	Product	First Offer - \$6.40	1500 / square yard	\$9,600.00	Y
Superpave Asphaltic Concrete	PNC2120194B112-28	Milling Existing	Product	First Offer - \$8.40	1500 / square yard	\$12,600.00	Y
Superpave Asphaltic Concrete	PNC2120194B112-29	Superpave Asphaltic	Product	First Offer - \$20.04	4500 / square yard	\$90,180.00	Y
Class   Miscellaneous   Product   Code:	PNC2120194B112-30	Superpave Asphaltic	Product	First Offer - \$188.52	500 / ton	\$94,260.00	Y
Adjust Inlets Product Code:  PNC2120194B112-33 FDOT/Division 32: Adjust Maintenance Access Structure Product Code:  PNC2120194B112-34 FDOT/Division 32: Maintenance Hatch Product Code:  First Offer - \$3,213.60 1 / each \$3,213.60 Y  First Offer - \$4,200.00 1 / each \$4,200.00 Y  PNC2120194B112-35 FDOT/Division 32: Supplier Product Code:  Supplier Product Code:  First Offer - \$7,800.00 1 / each \$7,800.00 Y	PNC2120194B112-31	Class I Miscellaneous	Product	First Offer - \$210.00	300 / cubic yard	\$63,000.00	Υ
Adjust Maintenance Access Structure  Product Code:  PNC2120194B112-34 FDOT/Division 32: Maintenance Hatch Maintenance Hatch Code:  PNC2120194B112-35 FDOT/Division 32: Supplier First Offer - \$4,200.00 1 / each \$4,200.00 Y  PNC2120194B112-35 FDOT/Division 32: Supplier First Offer - \$7,800.00 1 / each \$7,800.00 Y	PNC2120194B112-32		Product	First Offer - \$1,080.00	2 / each	\$2,160.00	Y
Maintenance Hatch	PNC2120194B112-33	Adjust Maintenance	Product	First Offer - \$3,213.60	1 / each	\$3,213.60	Υ
•••	PNC2120194B112-34		Product	First Offer - \$4,200.00	1 / each	\$4,200.00	Y
	PNC2120194B112-35			First Offer - \$7,800.00	1 / each	\$7,800.00	Υ

		Code:	County Commissioners			
PNC2120194B112-36	FDOT/Division 32: Adjust Maintenance Hatch	Supplier Product Code:	First Offer - \$600.00	1 / each	\$600.00	Y
PNC2120194B112-37	FDOT/Division 32: Adjust Valve Boxes	Supplier Product Code:	First Offer - \$222.00	1 / each	\$222.00	Y
PNC2120194B112-38	FDOT/Division 32: Yard Drain	Supplier Product Code:	First Offer - \$1,920.00	1 / each	\$1,920.00	Y
PNC2120194B112-39	FDOT/Division 32: Modify Existing Drainage Structure	Supplier Product Code:	First Offer - \$1,800.00	1 / each	\$1,800.00	Υ
PNC2120194B112-40	FDOT/Division 32: Concrete Curb and Gutter Type F	Supplier Product Code:	First Offer - \$26.40	300 / linear foot	\$7,920.00	Υ
PNC2120194B112-41	FDOT/Division 32: Concrete Curb Type D	Supplier Product Code:	First Offer - \$21.60	300 / linear foot	\$6,480.00	Y
PNC2120194B112-42	FDOT/Division 32: Concrete Sidewalk	Supplier Product Code:	First Offer - \$54.00	2500 / square yard	\$135,000.00	Y
PNC2120194B112-43	FDOT/Division 32: Concrete Sidewalk	Supplier Product Code:	First Offer - \$61.20	500 / square yard	\$30,600.00	Υ
PNC2120194B112-44	FDOT/Division 32: Patterned Pavement, Green Bike Lane	Supplier Product Code:	First Offer - \$156.00	100 / square yard	\$15,600.00	Y
PNC2120194B112-45	FDOT/Division 32: Install Architectural Pavers for Roadways	Supplier Product Code:	First Offer - \$6.60	25 / square foot	\$165.00	Y
PNC2120194B112-46	FDOT/Division 32: Install Architectural Pavers for Sidewalk	Supplier Product Code:	First Offer - \$6.24	25 / square foot	\$156.00	Y
PNC2120194B112-47	FDOT/Division 32: Reflective Pavement	Supplier Product	First Offer - \$5.98	50 / each	\$299.00	Y

	Marker, Class B	Code:	County Commissioners			
PNC2120194B112-48	FDOT/Division 32: Removal of Pavement Marker	Supplier Product Code:	First Offer - \$1.80	50 / each	\$90.00	Y
PNC2120194B112-49	FDOT/Division 32: Removal of Painted Striping	Supplier Product Code:	First Offer - \$21.60	200 / linear foot	\$4,320.00	Y
PNC2120194B112-50	FDOT/Division 32: Painted Directional Arrows	Supplier Product Code:	First Offer - \$54.00	10 / each	\$540.00	Y
PNC2120194B112-51	FDOT/Division 32: Painted Traffic Stripe	Supplier Product Code:	First Offer - \$0.54	500 / linear foot	\$270.00	Y
PNC2120194B112-52	FDOT/Division 32: Painted Traffic Stripe	Supplier Product Code:	First Offer - \$0.48	500 / linear foot	\$240.00	Υ
PNC2120194B112-53	FDOT/Division 32: Painted Traffic Stripe	Supplier Product Code:	First Offer - \$1.56	100 / linear foot	\$156.00	Y
PNC2120194B112-54	FDOT/Division 32: Painted Traffic Stripe	Supplier Product Code:	First Offer - \$3.60	100 / linear foot	\$360.00	Y
PNC2120194B112-55	FDOT/Division 32: Thermoplastic Traffic Stripe	Supplier Product Code:	First Offer - \$1.34	500 / linear foot	\$670.00	Y
PNC2120194B112-56	FDOT/Division 32: Thermoplastic Traffic Stripe	Supplier Product Code:	First Offer - \$1.32	500 / linear foot	\$660.00	Υ
PNC2120194B112-57	FDOT/Division 32: Thermoplastic Traffic Stripe	Supplier Product Code:	First Offer - \$7.80	500 / linear foot	\$3,900.00	Y
PNC2120194B112-58	FDOT/Division 32: Removal of Thermoplastic Pavement Marker	Supplier Product Code:	First Offer - \$1.80	50 / each	\$90.00	Y
PNC2120194B112-59	FDOT/Division 32: Thermoplastic Solid Traffic Stripe	Supplier Product Code:	First Offer - \$1.98	50 / linear foot	\$99.00	Υ

PNC2120194B112-60	FDOT/Division 32: Thermoplastic Solid Traffic Stripe	Supplier Product Code:	First Offer - \$2.64	100 / linear foot	\$264.00	Y
PNC2120194B112-61	FDOT/Division 32: Thermoplastic Traffic Stripe 18 in. Solid	Supplier Product Code:	First Offer - \$4.32	100 / linear foot	\$432.00	Υ
PNC2120194B112-62	FDOT/Division 32: Thermoplastic Pavement Messages and Symbols	Supplier Product Code:	First Offer - \$270.00	10 / each	\$2,700.00	Y
PNC2120194B112-63	FDOT/Division 32: Thermoplastic Directional Arrow	Supplier Product Code:	First Offer - \$90.00	10 / each	\$900.00	Υ
PNC2120194B112-64	FDOT/Division 32: Guide Lines	Supplier Product Code:	First Offer - \$1.38	200 / linear foot	\$276.00	Υ
PNC2120194B112-65	FDOT/Division 32: Steel Guardrail	Supplier Product Code:	First Offer - \$55.13	200 / linear foot	\$11,026.00	Y
PNC2120194B112-66	FDOT/Division 32: Steel Guardrail, Shop Bent Panels	Supplier Product Code:	First Offer - \$71.28	100 / linear foot	\$7,128.00	Y
PNC2120194B112-67	FDOT/Division 32: End Anchorage Assembly Type II	Supplier Product Code:	First Offer - \$1,576.08	4 / each	\$6,304.32	Υ
PNC2120194B112-68	FDOT/Division 32: Guardrail Removal	Supplier Product Code:	First Offer - \$27.72	100 / linear foot	\$2,772.00	Υ
PNC2120194B112-69	FDOT/Division 32: End Anchorage Assembly Type CRT	Supplier Product Code:	First Offer - \$3,950.76	4 / each	\$15,803.04	Y
PNC2120194B112-70	FDOT/Division 32: End Anchorage Assembly Melt	Supplier Product Code:	First Offer - \$3,779.16	4 / each	\$15,116.64	Y
PNC2120194B112-71	FDOT/Division 32: Reset Existing Steel Guardrail	Supplier Product Code:	First Offer - \$27.72	100 / linear foot	\$2,772.00	Y

		(	County Commissioners			
PNC2120194B112-72	FDOT/Division 32: Rip Rap Fabric Formed	Supplier Product Code:	First Offer - \$120.00	50 / square yard	\$6,000.00	Y
PNC2120194B112-73	FDOT/Division 32: Detectable Warning	Supplier Product Code:	First Offer - \$48.00	16 / square foot	\$768.00	Y
PNC2120194B112-74	FDOT/Division 32: 15 in. dia. Concrete Pipe	Supplier Product Code:	First Offer - \$54.00	100 / linear foot	\$5,400.00	Y
PNC2120194B112-75	FDOT/Division 32: 18 in. dia. Concrete Pipe	Supplier Product Code:	First Offer - \$68.40	50 / linear foot	\$3,420.00	Y
PNC2120194B112-76	FDOT/Division 32: 24 in. dia. Concrete Pipe	Supplier Product Code:	First Offer - \$96.00	35 / linear foot	\$3,360.00	Υ
PNC2120194B112-77	FDOT/Division 32: ADA compliant curb ramp	Supplier Product Code:	First Offer - \$600.00	2 / each	\$1,200.00	Y
PNC2120194B112-78	FDOT/Division 32: Optional Material	Supplier Product Code:	First Offer - \$36.00	100 / linear foot	\$3,600.00	Y
PNC2120194B112-79	FDOT/Division 32: Optional Material	Supplier Product Code:	First Offer - \$42.00	100 / linear foot	\$4,200.00	Υ
PNC2120194B112-80	FDOT/Division 32: Optional Material	Supplier Product Code:	First Offer - \$60.00	100 / linear foot	\$6,000.00	Υ
PNC2120194B112-81	FDOT/Division 32: Filling and Plugging Pipe	Supplier Product Code:	First Offer - \$480.00	2 / cubic yard	\$960.00	Y
PNC2120194B112-82	FDOT/Division 32: French Drain	Supplier Product Code:	First Offer - \$114.00	25 / linear foot	\$2,850.00	Y
PNC2120194B112-83	FDOT/Division 32: Ditch Bottom Type C with grate	Supplier Product Code:	First Offer - \$3,840.00	1 / each	\$3,840.00	Y
PNC2120194B112-84	FDOT/Division 32: Ditch Bottom Type C	Supplier Product	First Offer - \$3,840.00	1 / each	\$3,840.00	Υ

with Curb Inlet Code:

PNC2120194B112-85		Supplier Product Code:	First Offer - \$918.00	20 / each	\$18,360.00	Υ
PNC2120194B112-86	FDOT/Division 32: Concrete Car Stop	Supplier Product Code:	First Offer - \$40.80	100 / each	\$4,080.00	Υ
PNC2120194B112-87	FDOT/Division 32: Pervious Concrete Paving	Supplier Product Code:	First Offer - \$12.00	1500 / square foot	\$18,000.00	Υ
PNC2120194B112-88	FDOT/Division 32: Permeable Interlocking Concrete Pavers	Supplier Product Code:	First Offer - \$7.34	1200 / square foot	\$8,808.00	Υ
PNC2120194B112-89	FDOT/Division 32: Security Bollard	Supplier Product Code:	First Offer - \$365.39	4 / each	\$1,461.56	Υ
PNC2120194B112-90	FDOT/Division 32: Fold-down bollard	Supplier Product Code:	First Offer - \$391.20	4 / each	\$1,564.80	Υ

Bid Allowance \$600,000.00

Lot Total **\$773,902.56** 

Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
PNC2120194B113-01	Division 32 Irrigation: Shrub Adapter	Supplier Product Code:	First Offer - \$24.50	20 / each	\$490.00	Υ
PNC2120194B113-02	Division 32 Irrigation: Shrub Adapter	Supplier Product Code:	First Offer - \$24.50	20 / each	\$490.00	Υ
PNC2120194B113-03	Division 32 Irrigation: Pop-up	Supplier Product Code:	First Offer - \$14.09	20 / each	\$281.80	Y
PNC2120194B113-04	Division 32 Irrigation: Pop-up	Supplier Product Code:	First Offer - \$20.46	20 / each	\$409.20	Υ
PNC2120194B113-05	Division 32 Irrigation: Pop-up	Supplier Product	First Offer - \$19.22	20 / each	\$384.40	Y

		Code:				
PNC2120194B113-06	Division 32 Irrigation: Pop-up	Supplier Product Code:	First Offer - \$19.22	20 / each	\$384.40	Y
PNC2120194B113-07	Division 32 Irrigation: Pop-up	Supplier Product Code:	First Offer - \$22.75	20 / each	\$455.00	Y
PNC2120194B113-08	Division 32 Irrigation: Nozzle	Supplier Product Code:	First Offer - \$16.49	20 / each	\$329.80	Υ
PNC2120194B113-09	Division 32 Irrigation: Nozzle	Supplier Product Code:	First Offer - \$19.26	20 / each	\$385.20	Υ
PNC2120194B113-10	Division 32 Irrigation: Bubbler	Supplier Product Code:	First Offer - \$7.58	20 / each	\$151.60	Υ
PNC2120194B113-11	Division 32 Irrigation: Pop-up	Supplier Product Code:	First Offer - \$81.62	20 / each	\$1,632.40	Y
PNC2120194B113-12	Division 32 Irrigation: Pop-up	Supplier Product Code:	First Offer - \$131.45	20 / each	\$2,629.00	Υ
PNC2120194B113-13	Division 32 Irrigation: Rotor	Supplier Product Code:	First Offer - \$130.01	20 / each	\$2,600.20	Y
PNC2120194B113-14	Division 32 Irrigation: QC Valve	Supplier Product Code:	First Offer - \$182.46	10 / each	\$1,824.60	Υ
PNC2120194B113-15	Division 32 Irrigation: QC Key	Supplier Product Code:	First Offer - \$66.36	5 / each	\$331.80	Υ
PNC2120194B113-16	Division 32 Irrigation: Rotor and Riser	Supplier Product Code:	First Offer - \$97.16	20 / each	\$1,943.20	Υ
PNC2120194B113-17	Division 32 Irrigation: Pop-up	Supplier Product Code:	First Offer - \$27.00	20 / each	\$540.00	Υ

		County C	ommissioners			
PNC2120194B113-18	Division 32 Irrigation: Electrical Valve	Supplier Product Code:	First Offer - \$258.00	20 / each	\$5,160.00	Y
PNC2120194B113-19	Division 32 Irrigation: Electrical Valve	Supplier Product Code:	First Offer - \$312.00	20 / each	\$6,240.00	Y
PNC2120194B113-20	Division 32 Irrigation: Electrical Valve	Supplier Product Code:	First Offer - \$630.00	20 / each	\$12,600.00	Y
PNC2120194B113-21	Division 32 Irrigation: Electrical Valve	Supplier Product Code:	First Offer - \$393.60	20 / each	\$7,872.00	Y
PNC2120194B113-22	Division 32 Irrigation: Electrical Valve	Supplier Product Code:	First Offer - \$606.00	20 / each	\$12,120.00	Y
PNC2120194B113-23	Division 32 Irrigation: Electrical Valve	Supplier Product Code:	First Offer - \$630.00	20 / each	\$12,600.00	Υ
PNC2120194B113-24	Division 32 Irrigation: Relief Valve	Supplier Product Code:	First Offer - \$780.00	10 / each	\$7,800.00	Y
PNC2120194B113-25	Division 32 Irrigation: Gate Valve	Supplier Product Code:	First Offer - \$270.00	10 / each	\$2,700.00	Y
PNC2120194B113-26	Division 32 Irrigation: Irrigation Controller	Supplier Product Code:	First Offer - \$187.90	1 / each	\$187.90	Y
PNC2120194B113-27	Division 32 Irrigation: Irrigation Controller	Supplier Product Code:	First Offer - \$177.28	1 / each	\$177.28	Υ
PNC2120194B113-28	Division 32 Irrigation: Irrigation Controller	Supplier Product Code:	First Offer - \$348.23	1 / each	\$348.23	Y
PNC2120194B113-29	Division 32 Irrigation: Irrigation Controller	Supplier Product Code:	First Offer - \$401.21	1 / each	\$401.21	Y
PNC2120194B113-30	Division 32 Irrigation: Irrigation Controller	Supplier Product	First Offer - \$2,931.30	1 / each	\$2,931.30	Y

#### Code:

PNC2120194B113-31	Division 32 Irrigation: Irrigation Controller	Supplier Product Code:	First Offer - \$4,698.78	1 / each	\$4,698.78	Y
PNC2120194B113-32	Division 32 Irrigation: Irrigation Controller	Supplier Product Code:	First Offer - \$1,472.80	1 / each	\$1,472.80	Υ
PNC2120194B113-33	Division 32 Irrigation: Irrigation Controller	Supplier Product Code:	First Offer - \$1,575.78	1 / each	\$1,575.78	Y
PNC2120194B113-34	Division 32 Irrigation: Irrigation Controller	Supplier Product Code:	First Offer - \$1,792.50	1 / each	\$1,792.50	Y
PNC2120194B113-35	Division 32 Irrigation: Irrigation Controller Grounding	Supplier Product Code:	First Offer - \$1,500.00	5 / each	\$7,500.00	Y
PNC2120194B113-36	Division 32 Irrigation: Flow Sensor	Supplier Product Code:	First Offer - \$1,122.95	2 / each	\$2,245.90	Y
PNC2120194B113-37	Division 32 Irrigation: Wireless Rain Sensor	Supplier Product Code:	First Offer - \$148.03	2 / each	\$296.06	Υ

Bid Allowance \$600,000.00

Lot Total **\$105,982.34** 

Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch.	Docs
PNC2120194B114-01	Division 33: PVC Drain Basin with grate	Supplier Product Code:	First Offer - \$2,323.49	3 / each	\$6,970.47		Y
PNC2120194B114-02	Division 33: PVC Drain Basin with grate	Supplier Product Code:	First Offer - \$2,554.62	3 / each	\$7,663.86		Y
PNC2120194B114-03	Division 33: PVC Water Sewer Main	Supplier Product Code:	First Offer - \$48.00	300 / linear foot	\$14,400.00		Y
PNC2120194B114-04	Division 33: PVC Water Sewer Main	Supplier Product Code:	First Offer - \$67.02	200 / linear foot	\$13,404.00		Υ

PNC2120194B114-05	Division 33: DI Water Sewer Main	Supplier Product Code:	First Offer - \$78.00	100 / linear foot	\$7,800.00	Y
PNC2120194B114-06	Division 33: DI Water Sewer Main	Supplier Product Code:	First Offer - \$90.00	100 / linear foot	\$9,000.00	Y
PNC2120194B114-07	Division 33: DI Water Sewer Main	Supplier Product Code:	First Offer - \$96.00	100 / linear foot	\$9,600.00	Y
PNC2120194B114-08	Division 33: Gate Valve with Box	Supplier Product Code:	First Offer - \$1,680.00	10 / each	\$16,800.00	Y
PNC2120194B114-09	Division 33: Gate Valve with Box	Supplier Product Code:	First Offer - \$2,268.00	5 / each	\$11,340.00	Y
PNC2120194B114-10	Division 33: Gate Valve with Box	Supplier Product Code:	First Offer - \$4,200.00	3 / each	\$12,600.00	Y
PNC2120194B114-11	Division 33: Tapping Sleeve and Valve	Supplier Product Code:	First Offer - \$5,640.00	5 / assembly	\$28,200.00	Y
PNC2120194B114-12	Division 33: Tapping Sleeve and Valve	Supplier Product Code:	First Offer - \$7,200.00	3 / assembly	\$21,600.00	Y
PNC2120194B114-13	Division 33: Tapping Sleeve and Valve	Supplier Product Code:	First Offer - \$9,600.00	2 / assembly	\$19,200.00	Y
PNC2120194B114-14	Division 33: Plug Valve	Supplier Product Code:	First Offer - \$3,240.00	3 / each	\$9,720.00	Y
PNC2120194B114-15	Division 33: Plug Valve	Supplier Product Code:	First Offer - \$3,600.00	3 / each	\$10,800.00	Y
PNC2120194B114-16	Division 33: DDCV for Fire Services	Supplier Product Code:	First Offer - \$11,400.00	2 / assembly	\$22,800.00	Y
PNC2120194B114-17	Division 33: DDCV	Supplier	First Offer - \$12,600.00	2 / assembly	\$25,200.00	Y

			County Commissioners			
	for Fire Services	Product Code:				
PNC2120194B114-18	Division 33: DDCV for Fire Services	Supplier Product Code:	First Offer - \$20,400.00	2 / assembly	\$40,800.00	Υ
PNC2120194B114-19	Division 33: Mechanical Joint Restraints for PVC	Supplier Product Code:	First Offer - \$240.00	30 / each	\$7,200.00	Y
PNC2120194B114-20	Division 33: Mechanical Joint Restraints for PVC	Supplier Product Code:	First Offer - \$300.00	30 / each	\$9,000.00	Y
PNC2120194B114-21	Division 33: Mechanical Joint Restraints for PVC	Supplier Product Code:	First Offer - \$360.00	20 / each	\$7,200.00	Y
PNC2120194B114-22	Division 33: Mechanical Joint Restraints for DI	Supplier Product Code:	First Offer - \$240.00	30 / each	\$7,200.00	Υ
PNC2120194B114-23	Division 33: Mechanical Joint Restraints for DI	Supplier Product Code:	First Offer - \$300.00	30 / each	\$9,000.00	Y
PNC2120194B114-24	Division 33: Mechanical Joint Restraints for DI	Supplier Product Code:	First Offer - \$360.00	20 / each	\$7,200.00	Υ
PNC2120194B114-25	Division 33: Fire Hydrant	Supplier Product Code:	First Offer - \$4,800.00	4 / each	\$19,200.00	Y
PNC2120194B114-26	Division 33: Polyethylene Water Service	Supplier Product Code:	First Offer - \$12.00	100 / linear foot	\$1,200.00	Y
PNC2120194B114-27		Supplier Product Code:	First Offer - \$14.40	300 / linear foot	\$4,320.00	Y
PNC2120194B114-28	Division 33: Polyethylene Water Service	Supplier Product Code:	First Offer - \$18.00	300 / linear foot	\$5,400.00	Y
PNC2120194B114-29	Division 33: PVC Sch. 40 Water Service	Supplier Product Code:	First Offer - \$12.00	100 / linear foot	\$1,200.00	Y

PNC2120194B114-30	Division 33: PVC Sch. 40 Water Service	Supplier Product Code:	First Offer - \$14.40	300 / linear foot	\$4,320.00	Y
PNC2120194B114-31	Division 33: PVC Sch. 40 Water Service	Supplier Product Code:	First Offer - \$18.00	300 / linear foot	\$5,400.00	Y
PNC2120194B114-32	Division 33: Water Service Connection	Supplier Product Code:	First Offer - \$1,170.00	5 / each	\$5,850.00	Y
PNC2120194B114-33	Division 33: Water Service Connection	Supplier Product Code:	First Offer - \$2,340.00	5 / each	\$11,700.00	Y
PNC2120194B114-34	Division 33: 1 in. Above Ground RPZ	Supplier Product Code:	First Offer - \$1,600.80	10 / each	\$16,008.00	Υ
PNC2120194B114-35	Division 33: 2 in. Above Ground RPZ	Supplier Product Code:	First Offer - \$2,160.00	10 / each	\$21,600.00	Y
PNC2120194B114-36	Division 33: PVC Water Sewer Service	Supplier Product Code:	First Offer - \$24.00	300 / linear foot	\$7,200.00	Υ
PNC2120194B114-37	Division 33: Sewer Service	Supplier Product Code:	First Offer - \$18.00	300 / linear foot	\$5,400.00	Y
PNC2120194B114-38	Division 33: Sewer Service	Supplier Product Code:	First Offer - \$24.00	300 / linear foot	\$7,200.00	Υ
PNC2120194B114-39	Division 33: Sewer Service	Supplier Product Code:	First Offer - \$30.00	300 / linear foot	\$9,000.00	Y
PNC2120194B114-40	Division 33: Sewer Service	Supplier Product Code:	First Offer - \$36.00	300 / linear foot	\$10,800.00	Υ
PNC2120194B114-41	Division 33: Sewer Service	Supplier Product Code:	First Offer - \$36.00	300 / linear foot	\$10,800.00	Υ
PNC2120194B114-42	Division 33: Sewer	Supplier	First Offer - \$36.00	300 / linear foot	\$10,800.00	Υ

Service

Product Code:

PNC2120194B114-43	Division 33: PVC Clean-out with Valve Box	Supplier Product Code:	First Offer - \$318.00	15 / each	\$4,770.00	Υ
PNC2120194B114-44	Division 33: Gate Valve with Valve Box	Supplier Product Code:	First Offer - \$450.00	10 / each	\$4,500.00	Y
PNC2120194B114-45	Division 33: Gate Valve with Valve Box	Supplier Product Code:	First Offer - \$474.00	10 / each	\$4,740.00	Υ
PNC2120194B114-46	Division 33: Sampling Point	Supplier Product Code:	First Offer - \$840.00	20 / each	\$16,800.00	Y
PNC2120194B114-47	Division 33: Air Release Valve for Force or Water Main	Supplier Product Code:	First Offer - \$3,600.00	3 / each	\$10,800.00	Y
PNC2120194B114-48	Division 33: Lift Station with pump	Supplier Product Code:	First Offer - \$240,000.00	1 / lump sum	\$240,000.00	Y
PNC2120194B114-49	Division 33: Concrete Septic Tank	Supplier Product Code:	First Offer - \$10,200.00	1 / lump sum	\$10,200.00	Υ
PNC2120194B114-50	Division 33: Sanitary Drain field	Supplier Product Code:	First Offer - \$7,300.00	1 / lump sum	\$7,300.00	Y
Bid Allowance			\$600,000.00			
				Lot Total	\$791,206.33	

Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch.	Docs
PNC2120194B115-01	Labor and Equipment: Site Grading	Supplier Product Code:	First Offer - \$300.00	30 / hour	\$9,000.00		Y
PNC2120194B115-02	Labor and Equipment: Laser Site Grading	Supplier Product Code:	First Offer - \$300.00	30 / hour	\$9,000.00		Υ
PNC2120194B115-03	Labor and Equipment:	Supplier	First Offer - \$25.75	60 / hour	\$1,545.00		Y

		County Com	missioners	;				
	Construction Laborer with justification	Product Code:						
PNC2120194B115-04	Labor and Equipment: Electrical Journeyman or Electrician with justification	Supplier Product Code:	First (	Offer - \$96.00	100 / hour	\$9,600.0	00	Y
PNC2120194B115-05	Labor and Equipment: Dump Truck	Supplier Product Code:	First Of	fer - \$480.00	3 / each	\$1,440.0	00	Y
PNC2120194B115-06	Labor and Equipment: Backhoe	Supplier Product Code:	First Of	fer - \$128.75	12 / hour	\$1,545.0	00	Υ
Bid Allowance				\$600,000.00				
					Lot Total	\$32,130.00	)	
Item#	Line Item	Notes		Unit Price	Qty/Unit		Attch.	Docs
PNC2120194B116-01	General Conditions : General Conditions	Supplier I Code:	Product	First Offer -	1 / each			Υ
Bid Allowance				\$600,000.00				
					Lot Total	\$0.00		
					Sup	plier Total	\$6,113,586	5.07